Algorithm 1 Long-term motion prediction algorithm at time
te.
IHPUt Vitp_1s Xlitg_1s Qtg_q» ‘7» {’1,2,...,np

' Output t7, X4, ., ¢/
x¢, = PoseEstimation()
a,,a,. = IntentRecognition(x1.¢, )
Vi o= (xtk - th—l)/(ST
if a;, changed then

v(t; ", B) = RetrieveMotionModel(a;, )

Vi2...np(t; &*, B) = RetrieveMotionModel(a. )
end if
for Iteration = 1,2, ... do

Update 3 using Equation (5)(6)(7)
end for
: ty = ZeroCrossing(V(t; o*, 3))
. for Iteration = 1,2, ... do
Update 3 using Equation (11)(12)(13)
ty = Zero-Crossing(v(t; «™, 3), threshold)
: end for
. for t = 17 R A do
X(t) = x(t) + J{, V(s; ", B)ds
: end for
. tg’ = Zero-Crossing(Vy 2, np(t: o, B),threshold)
cfori=1,2,...,np do
Predict 5((15), for t = t_lfi—l : t’fi
: end for
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